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Question Number : 1 Question Id : 79840732306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The total demand for goods and services in an econormy is knowr as:

Options:

1. ®¥ National demand

2. % Economy-wide demand
% % Gross national product

4, ¥ Aggregate dermand

Question Number : 1 Question Id : 79840732306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 2 Question Id : 79840732307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following act as an intermediary to link up the sources of ideas and the sources of fund?

Options:

1. ® Merchant Banking
2. ¥ Venture Capital
% % Leasing

4, % Seed Capital

Question Number : 2 Question Id : 79840732307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 3 Question Id : 79840732308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& mowvernent along the demand curve to the left may be caused by:

Options:

1. % A decrease in supply

2 % A rise in the price of raw materials

% % 4 fall in the number of substitute goods

4 ® 4 rise in income

Question Number : 3 Question Id : 79840732308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 4 Question Id : 79840732309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

All asset based financing plans offered to individuals to help them acquire durable consurmner goods is
referred as:

Options:

1. % Trade credit
2. % cash credit

% % Hire purchase

4 ¥ Consumer credit

Question Number : 4 Question Id : 79840732309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 5 Question Id : 79840732310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A& machinery is purchased for Rs. 2,00,000 and Es. 50,000 is spent on its installation. Ks. 5,000 is spernt or
fuel. What will be the amount of capital expenditure?

Options:
1. % ms 300000

= % Rs. 350,000
= ¥ Rs 355000
4 % Rs 2 45 000

Question Number : 5 Question Id : 79840732310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
| % O 3,00,000

, » &. 3,50,000
5 % @». 3,55,000

. dw. 2,45,000
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Question Number : 6 Question Id : 79840732311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
what type of accounting error has occurred when a sale entered in the Sales Day Book has not been posted?
Options:
1. % Entry error
2. % Error of principle

% % Error of duplication



4. ¥ Double entry error

Question Number : 6 Question Id : 79840732311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 7 Question Id : 79840732312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If a general manager asks the sales manager to recruit some salesman on his behalf, it is an instance of:

Options:

1. # Division of authority

2. % Decentralisation of authority
=, ¥ Delegation of authority

4. % Delegation of responsibility

Question Number : 7 Question Id : 79840732312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 8 Question Id : 79840732313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
& nurnber of checks and controls exercised in a business to ensure its efficient working are known as:

Options:

1. # Internal check
2. ¥ Internal control
Z. % Internal audit

4. % Interim checl

Question Number : 8 Question Id : 79840732313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 9 Question Id : 79840732314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
An agreement consists of reciprocal promises between at least:

Options:

1. # four parties
2. % giy parties
% % three parties
4. ¥ two parties

Question Number : 9 Question Id : 79840732314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 10 Question Id : 79840732315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The process of dividing the work and then grouping them into units and subunits for the purpose of
adrministration is known as:

Options:

1. ¥ Departmentation

2. ® Organisation structure
% ® Committes

4. % Span of Control

Question Number : 10 Question Id : 79840732315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 11 Question Id : 79840732316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& written or spoken agreement, especially one concerning emplovment, sales, or tenancy, that is intended to
be enforceable by law is:

Options:

1. % contract
2. % agresment
3. % offer

4. ¥ acceptance

Question Number : 11 Question Id : 79840732316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 12 Question Id : 79840732317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of these is not an objective of Cost Accounting?

Options:

1. ¥ Ascertainment of Cost

2. % Determination of Selling Price

3. % Cost Control and Cost reduction

4 Assisting Shareholders in decision maling

Question Number : 12 Question Id : 79840732317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& 306 oeedes” DjoD 57030l VL o I DA?

Options:

a:rmrbrﬁj ~ocBocdco
1 ® i

" @-ﬁ;&ém A le K)gcﬁm

DN Doboges BATL DO BHoY)
3 ® — B

gaio SIS a0 Trerordety Do

4

Question Number : 13 Question Id : 79840732318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& tudget which is prepared in a manner so as to give the budgetad cost for any level of activity is known as:
Options:
1. % Master budget
2. % Zero base budget
= % Functicnal budget

4. ¥ Flexible budget



Question Number : 13 Question Id : 79840732318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 14 Question Id : 79840732319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In short run, the law of variable proportions is also known as the
Options:
1. % Law of constant returns
2. ¥ Law of diminishing returns
% % Law of increasing returns

4 # Law of return to scale

Question Number : 14 Question Id : 79840732319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 15 Question Id : 79840732320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which one 15 not the objective of Fiscal Policy in India?

Options:



1. % To increase liquidity in economy
2. % To promote price stability
Z. % To minimize the inequalities of income and wealth

4. % To promote employment opportunities

Question Number : 15 Question Id : 79840732320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 16 Question Id : 79840732321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is called a Banker's Cheque?

Options:
1. % Demand Draft

2. #® Debit Card
= % Banker's Draft
4. % pay Order

Question Number : 16 Question Id : 79840732321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 17 Question Id : 79840732322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the price elasticity of demand for a product is equal to 0. 5, then a 10 percent decrease in price will:
Options:
1. ¢ increase quantity demanded by 5 percent
2. ® increase quantity demanded by 0.5 percent
3. % decrease quantity demanded by 5 percent

4. #® decrease quantity demanded by 0.5 percent

Question Number : 17 Question Id : 79840732322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 18 Question Id : 79840732323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich armong the following is not the instrurment of Quantitative moretary policy?
Options:
1. % Deficit financing
2. % Bank Rate Policy
= % Variation in reserve ratios

4. % Open market operation

Question Number : 18 Question Id : 79840732323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 19 Question Id : 79840732324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Owerdraft granted against 'no frills' accounts in rural and semi-urban areas is classified as:

Options:

1. # 5 Percent Direct Advance of Agriculture Sector

2. % 100 Percent Direct Advance of Agriculture Sector
= ¥ 100 Percent Indirect Advance of Agriculture Sector

4 # 100 Percent Direct Adwvance of Personal Sector

Question Number : 19 Question Id : 79840732324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 20 Question Id : 79840732325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following should not be reported on a Statement of financial position as a Mon Current asset?

Options:

1. ¥ Motor vehicles

2. % Bank balance

% % Office equipment
4. % Land and buildings

Question Number : 20 Question Id : 79840732325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 21 Question Id : 79840732326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& clearly defined and measurable outcome to be achieved over a specified timeframe is known as:
Options:
1. ¥ Cbjective
2. % Planning
3. % Cutcome

4 # Syuccession

Question Number : 21 Question Id : 79840732326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 22 Question Id : 79840732327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The degree to which jobs are standardized and guided by rules and procedures is called
Options:
1. % work specialization
2. ¥ Centralization
% % Decentralization

4 % Forrmalization



Question Number : 22 Question Id : 79840732327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 23 Question Id : 79840732328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The most reliable form of audit evidence is;

Options:

1. % written docurments

2. % Cral representation of the third parties

3. ¥ Visual observation of a transaction or event by the auditor

4. % aAnalytical procedures

Question Number : 23 Question Id : 79840732328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 24 Question Id : 79840732329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
& lends 10 1akh to B for a year. After one year A's right to recover the money from Eis a



Options:

1. # right in rem

2. ¥ right in personam
= % moral right

4. % civil right

Question Number : 24 Question Id : 79840732329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 25 Question Id : 79840732330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In element-wise classification of owerheads, which one of the following is not included?

Options:

1. ¥ Fixed overheads
2. % Indirect labour
%, % Indirect materials

4, % [ndirect expenditure

Question Number : 25 Question Id : 79840732330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 26 Question Id : 79840732331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In general, profit will e at a maximum where
Options:
1. % MC = MR
2 ® MC < MR
3 % MC > MR

4 # MC =MRE -1

Question Number : 26 Question Id : 79840732331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

. » MC = MR

, % MC < MR

. » MC > MR

4 % MC =MR—1

Question Number : 27 Question Id : 79840732332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Inflation is:

Options:

1. ¥ an increase in the overall price level

2. % an increase in the overall level of economic activity
3. % g decrease in the overall level of economic activity

4. ¥ a3 decrease in the overall price level

Question Number : 27 Question Id : 79840732332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 28 Question Id : 79840732333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The ratio between cash in hand and total assets maintained by banks is called:
Options:
1. % SER (Statutory Bank Ratio)
= ¥ SLR (Statutory Liquid Ratio)
% % CER (Central Eank Reserve)

4 % CLR (Central Ligquid Feservye)

Question Number : 28 Question Id : 79840732333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 29 Question Id : 79840732334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The countries Ccovered under Scuth Asian Free Trade Area (SAFTA) are;
Options:
1. \ 4 the severn countries who are members of SAARC
2. % 3ll countries in South East Asia
2. % Al countries in South and South-East 4sia, and Australia and MNew Zealand

4 # Pakistan, Bangladesh, Bhutan, 5r1 Lanlka, Mepal and Maldives

Question Number : 29 Question Id : 79840732334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 30 Question Id : 79840732335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
& technique that the manager uses to improve resource allocation decision is:

Options:

1. % Linear Programuming

2. % Work Scheduling

= % Economic order quantity modelling

4. % Regression analysis

Question Number : 30 Question Id : 79840732335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 31 Question Id : 79840732336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhich theory assurmes that people are naturally lazy and will avoid work and responsibilities if possible?
Options:
1. Theory ¥



2. % Theory ¥
% % Theory Z
4 % Theorv X &Y
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

An andit process whereby the auditor selects sample iterns from an account and goes backwards through the
accounting system to find the source documentation that supports the iterm selected is known as:

Options:
1. # Trend analysis

2. % Tracing
=, ¥ Vouching

4, % ainalytical procedures
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Question Number : 33 Question Id : 79840732338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

& contract to perform the promise or discharge the liability of a third person in case of his default is
called:

Options:
1. #® 3 contract of insurance

= % a contract of guarantee
2. % 3 contact of bailment

4 # 3 contract of condition
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Question Number : 34 Question Id : 79840732339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
When investigating the company’s legal positiorn, the auditor should ook at:

Options:

1. % Minutes of the board of directors and stockholders’ mestings.
2. #® The audites's website

3. % Customs import documents

4, % Artorney billings
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Question Number : 35 Question Id : 79840732340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

& legally enforceable promise betweer legally competent parties to do or refrain from doing a specified, legal
act or acts is referred as:

Options:
1. % unilateral contract

2 ® pilateral contract
2. ® ynenforceable contract

4 # yoid contract
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Question Number : 36 Question Id : 79840732341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following staternents best describes a production function?
Options:
1. # the maximum profit generated from given levels of inputs
2. ¥ the maximum level of cutput generated from given levels of inputs

= % all levels of output that can be generated from given levels of inputs



4. % all levels of inputs that could produce a given level of output
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Question Number : 37 Question Id : 79840732342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The place where bankers meet and settle their rmuatual Claims and accounts is knowrl as:

Options:
1. # Treasury

2. ¥ Clearing House
3. % Collecting Centre
4. % Clearance Ground
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Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
In order to control credit

Options:

l.p # CRE should be increased and Bank Rate should be decreased
2. % CRE should be decreased and Eank Rate should be decreased
Z. ¥ CRFE and Bank Rate should be increased

4. % CRR should be decreased and Eank Rate should be increased
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Question Number : 39 Question Id : 79840732344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following error results in unadjusted cash book balance?
Options:
1. #® Outstanding checks
2. % Unpresented checks
3. # Deposit in transit

4. ¥ Omission of Eank charges
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Question Number : 40 Question Id : 79840732345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following would generally hawve unlimmited liability?

Options:

1. % A limited partner in a partnership
2. % A shareholder in a corporation

Z. ¥ The owner of a sole proprietorship

4, % & mernber in a limited liability cornpany LLC)
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Question Number : 41 Question Id : 79840732346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Drganisation establishes relationship hetwesr)

Options:

1. % People, work and resources

2. % Customer, work and resources
Z. % People, work and managerment

4 % Custormer, work and managerment
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Question Number : 42 Question Id : 79840732347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which of the following is not an example of the evidence-gathering technique of recalculation?
Options:
1. % Checking calculations of depreciation
2. % Extending sales invoices
Z. % Checking mechanical accuracy of records and ledgers

4. ¥ Processing a sample invoice through the accounting systerm
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Question Number : 43 Question Id : 79840732348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
"It is not the seller’s duty to point out defects of his owmn goods. * This concept is known as:

Options:

1. ® Unfair Trade Practices
2. ¥ Caveat Emptor

Z. % Buyer Duty

4. % Buyer Kingdom
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Corsurmer protection act 1986 extends to
Options:
1. # The whole India
2. % The whole India except Nagaland tribal area
% % The whole India except MNagaland tribal area and Jarmrmu and Kashrmir

4. ¥ The whole India except Jarmu and Kashrmir
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Question Number : 45 Question Id : 79840732350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The party to contract aggrieved or wronged by 'misrepresentation' can:
Options:
1. % avoid the performance of the contract

2. % avoid the contract and sue for damages



= # neither avoid the contract, nor can he sue for darrages

4, % gue for the damages
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Question Number : 46 Question Id : 79840732351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is not a reascon for an idle time variance?

Options:

1. ¢ Wage rate increase

2. % Machine breakdown

3. % [llness or injury to worker

4, % Non- availability of material
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Question Number : 47 Question Id : 79840732352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following indicates the extent of which the sales can be reduced without resulting in loss?

Options:

1. ® P}V Ratio

2 % Profit

3. % Angle of incidence

4. ¥ Margin of safety
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Question Number : 48 Question Id : 79840732353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the econcrmy 15 operating at potential GOP, an increase in the money supply will lead to
Options:
1. # stagflation
2. ® structural inflation
2. ¥ dermand-side inflation

4. % supply-side inflation
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Question Number : 49 Question Id : 79840732354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The basis of quasi contractual obligation is the:
Options:
1. ® Existence of valid contract between the parties
2. % Existence of voidable contract between the parties
3. ¥ Prevention of unjust enrichment at the expense of others

4 # Provision contained in section 10 of the contract
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Question Number : 50 Question Id : 79840732355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
iZost of abnormal wastage 15
Options:
1. # Charged to the product cost
2. % Charged to the profit & loss account
% % Charged partly to the product and partly profit & loss account

4. % Mot charged at all
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Question Number : 51 Question Id : 79840732356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhich trade theory holds that nations can increase their economic well-being by specializing in the
production of goods they produce more efficiently than anvone else?

Options:

1. ¥ The theory of absolute advantage

2. % The international product life cycle theory
3. % The theory of comparative advantage

4. % The factor endowment theory
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Question Number : 52 Question Id : 79840732357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& budgeting approach in which input of resources is related to output of services is called:
Options:
1. # Planning-program-budgeting
2. % Incrermental budgeting

% % Zero-based budgeting



4 % Performance budgeting
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Question Number : 53 Question Id : 79840732358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The rate at which REI lends to banks under the Liquidity Adjustrnent Facility (LAF) is called
Options:
1. ¥ Repo Rate
2. % Reverse Repo Rate
Z. % Bank Rate

4. % Cash Reserve Ratio
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Question Number : 54 Question Id : 79840732359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If wages paid for installation of new machinery is debited to wages Account, it is:



Options:

1. ® An error of commission
2. ¥ An error of principle

Z. % A compensating error

4 # An error of omission
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Question Number : 55 Question Id : 79840732360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A& machine was bought for Rs. 100,000, Its estimated useful life is four vears with a residual value of Rs.
10,000, Depreciation is charged on the straight line method. What is the percentage of depreciation rate on an
annual basis?

Options:
1. % 15 Percent

2 # 22 50 Percent
I # 255 Percent
4 % oF Percent
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Question Number : 56 Question Id : 79840732361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
wWhat is a social enterprise concerned with?
Options:
1. % Profit maximization
2. % Maximizing market share
= % Providing public service

4. ¥ Running a business to create social benefits
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Question Number : 57 Question Id : 79840732362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which of the following is not a wrap-up procedure?

Options:

1. ® working capital review

2. % analytical procedures

% % Review of laws and regulation

4 Peer review

Question Number : 57 Question Id : 79840732362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
&1 308 735" 2,856 P@ErPeD PIAL SPE?

Options:



| w 0TOGD DADE.

s

s EI"E'}{]}S SIDTFIPE L)
.- =

o DGO S0B03L DODOBEY AL, DDE

i 06 (F o8] poE

Question Number : 58 Question Id : 79840732363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The cpening stock of a company is Rs. 40,000 and the closing stock is Bs. 50,000 If the purchases during
the vear is RS, 2,00,000, the cost of goods sold will be:

Options:

1. % F5.2,10,000
2. % REs.2,90,000
= ¥ Rs.1,90,000
4. % REs.2,00,000
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Internal controls are grouped into the following categories:
Options:
1. ' Effective operations, financial reporting, and compliance
2. % Efficient operations, financial analysis, and compliance
= ® Efficient operations, financial analysis, and management reporting

4. % Production and operations, financial reporting, and management reporting
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Question Number : 60 Question Id : 79840732365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ATl organizational structure that has fuﬂCtiDﬂElll}.F structured divisions is krowt as?
Options:
1. % Multi-dimensional
2. % Matrix
% % Hybrid
4. % Simple
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Question Number : 61 Question Id : 79840732366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
According to Section 2(7) of Sale of Goods Act, ‘Eo0ds 1eans:

Options:



1. # every kind of movable property,

2. % property other than actionable claims and money

Z. % every kind of property

4. ¥ every kind of movable property, other than acticnable claims and money
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Question Number : 62 Question Id : 79840732367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The purpose of the income statement is to show the:

Options:

1. # change in the fair market value of the assets from the prior income statement.
2. % revenues collected during the period covered by the staterment

Z. ¥ net income or net loss for the period covered by the staterment

4. % market value per share of stock at the date of the staterment
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Question Number : 63 Question Id : 79840732368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

an offer from a potential supplier to provide goods and [or services at pre-arranged prices, under set terms
and conditions, when and if required is called:

Options:

1. ¢ Standing offer
2. % Specific offer

% % Express offer

4. % Implied offer
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Correct : 1 Wrong: 0.33
The quick ratio (or acid test) indicates the
Options:
1. ® Rate at which cash is being received
2. % Rate at which cash is being spent
3. % Spesd with which profits are being made

4. % Short term liquidity of the business
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Question Number : 65 Question Id : 79840732370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The most appropriate measure of a country's economic growth is

Options:

1. % GDP

2. % NDFP

=3 L Per capita real ineome
4. ® GNP
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Question Number : 66 Question Id : 79840732371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
& Credit Note would be issued by a business:

Options:

1. # as reference for the credit worthiness of a long standing custormer
2. % to cancel fully or partly amounts receivable from customers

= % as evidence of goods sold on credit

4. % as evidence of the amount received as deposit in respect of a sale
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Question Number : 67 Question Id : 79840732372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
& business buys Es. 1,000 of stock on credit. What is the dual effect of this transaction?

Options:

1. ¥ Decrease cash and increase stocks

2. % Decrease creditors and increase stocks
3. # Increase debtors and increase stocks

4. % Increase creditors and increase stocks
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Question Number : 68 Question Id : 79840732373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which of the following would be part of an engagement proposal for an existing client?

Options:



1. ¥ Transition needs
2. % sStrengths of the audit firm
=, ¥ Description of the audit team

4. % Client's business and audit Expectations
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Question Number : 69 Question Id : 79840732374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Loss on sale of plant and machinery should be written off against:

Options:

1. # Share premium

2. ¥ Depreciation fund account
% % Sales account

4 # Profit & loss accourt
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Question Number : 70 Question Id : 79840732375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A contract of life insurance is a:
Options:
1. % Contract of indemnity
2. ¥ Contingent contract
% % Wagering agreerment

4. % Uncertain agreement
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Question Number : 71 Question Id : 79840732376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which of the financial staterments recognizes only transactions in which cash changes hands?
Options:
1. ¥ Ealance Sheet
2. ® Income Staterment
2. ¥ Statement of Cash Flows

4 # EBalance Sheet, and [ncome Statement
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Question Number : 72 Question Id : 79840732377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is not a responsibility of audit committees?

Options:

1. ¥ Reviewing corporate reporting processes
2. % Monitoring management

=, ¥ Management compensation

4. % Relations with the independent auditor
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Question Number : 73 Question Id : 79840732378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

which itermn may be included in a Balance Sheet at more than historical cost:
Options:

1. % Work-in-progress

2. % Goodwill

% % Research expenditure

4. ¥ Land and Building
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Question Number : 74 Question Id : 79840732379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The managerment accounting technique that spreads indirect manufacturing costs fairly across the range of
products 1s called:

Options:
1. % Absorption costing

2. % Allocation costing
% % Indirect costing

4. % COwerhead costing
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Question Number : 75 Question Id : 79840732380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Audit is a fact-finding process that compares actual results with:

Options:
1. ¢ specified standards and plans

2. % expected results



3. % premature results

4, % preliminary results
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The stable average of Central Tendency Measure is
Options:

, = Median

5 o Mean

- » Mode



4 » Geometric Mean

Question Number : 76 Question Id : 79840732381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
SoSah Fode Pad & DED Dfew

Options:

- m¢5ﬁ@m

2908 :oq&}gmam
>

& AT TOY S 0D

mw@és m%mm
4 %

Question Number : 77 Question Id : 79840732382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

What is the suitable average to be used if the data is Qualitative?
Options:

; w Mean

> % Mode

- « Median

4, % Harmonic Mean
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Question Number : 78 Question Id : 79840732383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

If Arithmetic Mean is 18 and Harmonic Mean is 8 then Geometric Mean is

Options:
1.« 12

o 2%
3%11

7
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Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The Arithmetic Mean and Geometric Mean for two observations are 5 and 4
respectively. Find the two observations?

Options:
1. ® {‘{L 4}
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Question Number : 80 Question Id : 79840732385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Mean and Variance of 5 observations is 4.4 and 8.24 respectively. Three
of the five observations are 1, 6 and 2. Find the other two?

Options:

% 18 5)

g (9,4)

(10, 3)

3 ®

L5167

Question Number : 80 Question Id : 79840732385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



5 HéFdO CEDE), DOEVDD DBt DRSB DA 4.4 Ho08cin 8.24. 3 2
HBFLDLES’ | [T HOFLSNe 1, 6 b0 2. ADD Bodd DHBFLD

200 0200

Options:

L« (89

2 v (9,4)

(10, 3)

3 ®

Lx (67

Question Number : 81 Question Id : 79840732386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Mean of 100 observations is 50. What will be the new Mean if 5 is added and
each observation is multiplied by 37

Options:

. % 160
5 o 165

2w 170
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Question Number : 82 Question Id : 79840732387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The average mark of boys in particular subject was 80 and that of girls was 65.

The average mark of all the students was 74. The ratio of boy to girl is

Options:
1 % 23

o # 1:3
= ® 3:1
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Question Number : 83 Question Id : 79840732388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.33
The point of intersection of the less than and the more than Ogive corresponds to

the

Options:
i Median



> » Decile
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Question Number : 84 Question Id : 79840732389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The breadth of the rectangle is equal to the length of the class interval in

Options:
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5 off Area Diagram
2 % Ogive

4% Pictogram
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Question Number : 85 Question Id : 79840732390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Frequency density is used in the construction of

Options:
, = Bar diagram

5 % Freaquency Polygon

il Histogram

4 = Ogive
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H.A Struges formula for determining class-intervals, the number of classes is

Options:

.« K =3332log, N

K =3.323log,, N

2 %
_— K =3222log,, N
i K = 3.32210g1GN

Question Number : 86 Question Id : 79840732391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
SEHS oBGE00A LBk Sdrdow VoW EngJm:ﬁJéJSJ H.A. 20200 cdws),

AATREH2000
Options:

« K=3332log,,N

, « K =3323log,, N

. « K=3222log, N

, » K=3322log,o N

Question Number : 87 Question Id : 79840732392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Probability is a measure, it measures
Options:
¥ Uncertainity

_ Chaos
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Relative Frequency always lies between
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Question Number : 89 Question Id : 79840732394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The definition of Emperical Probability was given by

Options:
lames Bernoulli

ks

5 % A.N. Kolmogorou

ool Von Mises

_ Jacob Bernoulli
4. -
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Question Number : 90 Question Id : 79840732395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The first person to obtain a Quantitative measure of uncertainty is?

Options:

| James Bernoulli



~ Jacob Bernoulli
o ®

5 ® Pascal

4 % James Boole
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Correct: 1 Wrong: 0.33
A is an event. If P(A) = 1, then A is called
Options:
_ Null Event
1, -

» % Compound Event

5 o Sure Event

4 # Independent Event
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Question Number : 92 Question Id : 79840732397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Find the missing frequency from the following data, given that the Median mark

is 23.

Mark: 0—10 10— 20 20 — 30 30 — 40 40 — 50
No.of students: 5 8 7 6 3

Options:
, % 10.5

T #® 20
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Correct : 1 Wrong: 0.33
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Question Number : 93 Question Id : 79840732398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If @ isthe standard deviation of x;x>x5 ... ..... X, , then the standard deviation of

k —xik —x;k— x5 ........k—x,,is
Options:
1.« 0

Question Number : 93 Question Id : 79840732398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 94 Question Id : 79840732399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If m is the Arithmetic Mean of x4, x5, ..., x,, then the Arithmetic Mean of

5 P AP S

Options:
1 ®# M
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Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
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Question Number : 95 Question Id : 79840732400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The main drawback of arithmatic mean is
Options:

It is affected by small values

®

i

It is not useful for further mathematical analysis
i It is very much affected by extreme values

It is not based on all observations

Question Number : 95 Question Id : 79840732400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
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Question Number : 96 Question Id : 79840732401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Standard deviation is not independent of change of the

Options:
Origin

il Scale

- & Mean

4 » None of the given options is correct
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The width of each of nine classes in a frequency distribution is 3.5 and the lower
class boundary of the lowest class is 12. Which one of the following is the upper
class boundary of the 9" class?

Options:

1.« 435

2 = 47.5

Question Number : 97 Question Id : 79840732402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:

1.« 43.5

s = 47.5

Question Number : 98 Question Id : 79840732403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The data collected in population census are termed as

Options:

- Secondary data

. w lertiary data

S Primary Data



4% Qualitative data

Question Number : 98 Question Id : 79840732403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 99 Question Id : 79840732404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The following is used in collection of population census data

Options:

N Questionnaire
i

- Schedules

. » Data from journals

- None of the given options is correct
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Question Number : 100 Question Id ;: 79840732405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For comparison of magnitudes of three variables we use

Options:
% Simple bar diagram

5% freaquency curves
.. Histogram
3 %

Multiple bar diagram
4 &

Question Number : 100 Question Id : 79840732405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 101 Question Id : 79840732406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Sum of the deviations of a set of values from their arithmetic mean is equal to

Options:



| « Z€ro

> % Minimum

- » Maximum

4 R Mean

Question Number : 101 Question Id : 79840732406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 102 Question Id : 79840732407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In a sample survey, errors may also arise due to defective frame and faulty

selection of sampling units.

Options:
% Sampling

$
e Non-sampling

- = REsponse

4 » Non-response

Question Number : 102 Question 1d : 79840732407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
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Question Number : 103 Question 1d : 79840732408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

The complete list of sampling units which covers the population is known as

Options:

1 = Sampling fraction

.. Census survey
P

2 % Sample survey

4  Sampling frame

Question Number : 103 Question Id : 79840732408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 104 Question Id : 79840732409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A measure of central value which depends on first 50% of observations is

Options:
_ Mean
5.

_ Geometric Mean
o B

- « Median

Maode
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33



Consider the following statements:

1. Quadratic Mean is always greater than the Arithmetic Mean.
2. Quartiles are not equidistant from Median in Symmetrical distributions.
3. Mode is the average to be used to find the ideal size foot wear

Which of the above statements is/are correct?

Options:
; % 2and 3 only

55 only

= = 3only

4 = land3only

Question Number : 105 Question Id : 79840732410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 106 Question Id : 79840732411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What are the measures which express the spread of observations in

terms of distance between the values of selected observations?

Options:
. Quartile Deviation and Standard Deviation

i Range and Quartile deviation

- » Mean Deviation and Standard Deviation

4 » Range and Mean deviation

Question Number : 106 Question Id : 79840732411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 107 Question Id : 79840732412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
For any two numbers a and b, Standard Deviation is

Options:
|a+b]|

1 ®» 2



Question Number : 107 Question Id : 79840732412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 108 Question Id : 79840732413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If Mean << Median or Mean < Mode then the distribution is

Options:
v Positively Skewed

.- Negatively Skewed
- w Symmetric

ol None of the given options is correct
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Question Number : 109 Question Id : 79840732414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Limits of karl Pearsons’ Coefficient of skewness s; are
Options:

IA
M

5 % ]5.!:|

IV
[y

4 % 15,&']

Question Number : 109 Question Id : 79840732414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 110 Question Id : 79840732415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Given Q; = 18,05 = 25, Mode=21 and Mean=18. Find the coefficient of
Skewness.

Options:
, % 0.812
> % -0.714

- % -0.812

4, v 0.714

Question Number : 110 Question Id : 79840732415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:

, % 0.812
> x -0.714
o % -0.812

@ 714

Question Number : 111 Question Id : 79840732416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If mean and Geometric mean of 10 observations are 12 and 9 respectively, then
variance is

Options:

@ 8

FI .
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Question Number : 111 Question Id : 79840732416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 112 Question Id ;: 79840732417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Pearson Coefficient of Skewness for a distribution is 0.4 and Coefficient of

Variation is 30%. Its Mode is 88. Find the Mean and Median.

Options:
, » 10and 96

> % 96and 100

. = 96and 86

4 + 86 and 96

Question Number : 112 Question Id : 79840732417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 113 Question Id : 79840732418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
The empirical relation between Mean deviation (MD) and Standard Deviation (SD)
s
Options:

;. 5MD =45D

, % 4MD = 55D
. % 6MD=55D

. % 3MD=2SD

Question Number : 113 Question Id : 79840732418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
Y. 5MD = 45D

» % 4MD = 55D



5 % 6MD=55D

. = 3MD =25D

Question Number : 114 Question 1d : 79840732419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

A Measure of dispersion which does not depend on the unit of measurement of

data

Options:
, = Mean Deviation

- % Standard Deviation

.  Coefficient of variation

4 » Range

Question Number : 114 Question Id : 79840732419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 115 Question Id : 79840732420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Kurtosis of Normal distribution in terms of 5, coefficient is

Options:
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Correct : 1 Wrong: 0.33

T D] Der2ud BN, SLEBHD , fz ML DEDVVS’

Options:

1_&:,{?2?’3
2.&”82q:3
3_33482:0

4n P2=3

Question Number : 116 Question Id ;: 79840732421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
Coefficient of determination lies between the limits
Options:

1. ¢ [0.1]

o R (0'1)
3 # (=11)

4. # [-1.1]

Question Number : 116 Question Id : 79840732421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

1. ¢ [0,1]

o R (0,1)
3 # (=11)

4 % [_lrl]

Question Number : 117 Question Id : 79840732422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

The correlation between Intelligence and Demand is

Options:
, = Negative

, = Positive

b NMon-Sense

4% Either positive or negative

Question Number : 117 Question Id : 79840732422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

39D Sbren H0dcin AT S 2065 RITRI02I0GB0

Options:

N mw@ésm
1%

% ;fazrve:&;:éma

- ead D‘“f?@lﬁ,mj
s R

c;f::.we:&ééam (Sfeu mm@ésm
4 ®



Question Number : 118 Question Id : 79840732423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The limits of Rank correlation coefficient are
Options:

[0,1]

L, [-10]

3 [_111]

, » [05,0]

Question Number : 118 Question Id : 79840732423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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Question Number : 119 Question Id : 79840732424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33
For a group of 8 students, the sum of squares of differences in ranks for Telugu
and English marks was found to be 50. What is the value of rank correlation
coefficient?

Options:
. % 0.37

, % -0.40



. x 0.37

4 v 0.40
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Correct : 1 Wrong: 0.33
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Options:
, % 0.37

o ® -0.40

2 % -0.37

4 v 0.40

Question Number : 120 Question Id : 79840732425 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
For 20 pairs (x;y;) of observations the correlation coefficient y(x,y) = 0.4 and
X =12,Y = 15,0{ = 9,07 = 16. Later it was found that the pair (x=20,y=15)
was wrongly taken as (x=15,y=20). Find the correct value of the correlation
coefficient ?

Options:
, % -0.31
, = 0.61

5 B3

, % -0.61
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Options:
, % -0.31

5 061
o o B

, % -0.61

Question Number : 121 Question Id : 79840732426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
It the correlation Coefficient r is more than 6 times the probable error, then

correlation is
Options:

i Significant
, » Positive

. = Negative

4% Not significant
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Question Number : 122 Question Id ;: 79840732427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If the correlation coefficient ris 0.917 and its Probable Error is 0.034. What
would be the value of n?

Options:

1 %10

>« 8
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Options:

> o 8

5 % 12

4 %9
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Correct : 1 Wrong: 0.33



The coefficient of rank correlation of the marks obtained by 10 students in
statistics and accountancy was found to be 0.2. It was later discovered that the
difference in ranks in the two subjects obtained by one of the students was
wrongly taken as 9 instead of 7. Find the correction coefficient of rank
correlation?

Options:
, # 0.394

, % 0.390
- % 0.392

4 0391
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Options:

, % 0.394
, % 0.390
- % 0.392

4 0391

Question Number : 124 Question Id ;: 79840732429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The Logarithmic Straight Line is used as an expression for

Options:

, = Absolute movement



5 % Random movement

s Secular movement

4 R Irregular movement
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Question Number : 125 Question 1d : 79840732430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

Which average is used for Smoothening a Time Series?

Options:

_ Pooled average
1%

-  Moving average

Weighted average

4% Simple average
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Correct : 1 Wrong: 0.33

In time series , deseasonalisation is needed for the study of

Options:

;i Cyclic Component

3R Trend Component
2 % Random Component

None of the given options is correct
4 %
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Correct : 1 Wrong: 0.33
The Oscillation movements in a time series with period of Oscillation more than
one year are termed on

Options:
. w Trend

Seasonal Variation

B

e Cyclic Variation

Irregular variations

iy

4. ®
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Number of equations required to fit Second Degree Parabola Curve?

Options:
1 % 4
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Paasche’s price index is based on

Options:
s Base year quantities

~ Average of base and current year quantities
2 ®

- Geometric mean of base and current year quanities

e Current year quantities
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Correct: 1 Wrong: 0.33
The prices of a commodity in the year 1985 and 1990 were 25 and 30

respectively taking 1985 as base year the average relative price is:

Options:

, % 113.25
» » 110.25

. » 108.79

4 v 109.54
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Real wages are defined as

Options:



Cost of living index

o X 100
| % oney wages
Money wage
® Purchasing power
Money wages
x 100

> Cost of living index

Money wages X Price index
4 %
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The most appropriate average used in the construction of Index numbers is

Options:

. Arithmetic mean

5 off Geometirc Mean

- » Medium



48 Harmonic mean
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Laspeyre’s Quantity Index Formula with usual notation is
Options:

2 qijPoj % 100
|« L90jPoj

Y qijPoj
ﬁ}{ 100
5 % L4ijPij

% qijPij % 100

5 ® X qojPij

2 4ijPoj % 100
% Y. Qojpij
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Marshall-Edge worth Price Index does not obey

Options:
N Time reversal test

5 % Unit test

~Factor reversal test
2 v

None of the given options is correct
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Consumer Price index is same as
Options:

i Marshal — Edg worth index

i
S Laspeyre’s Index

Paasche index

_ Fisher Index
P #
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Fisher's Index Number is the only formula among all other formula which satisfies

Options:
Time Reversal Test

1,

.  Factor Reversal Test



s Circular Test

4 ® Unit Test
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The most suitable average to determine the Cost of Living Index for family budget
method is
Options:
i Arithmetic Mean

. » Geometric Mean

e Weighted Arithmetic Mean

, » Median
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Fisher’s index number is the between laspeyres’ and paasche’s index

numbers

Options:
. Geometric mean

. % Harmonic Mean
5 » Arithmetic Mean

4 » Median
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Marshal Edgworth index number lies between

Options:
, % Fisher index and laspeyre's index numbers

_— Fisher index and paasche’s index numbers

- Laspeyres and Drobish-Bouley index numbers

Laspeyres and paashe’s index numbers
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Correct : 1 Wrong: 0.33
A bag contains 6 white and 3 black balls which are identical in shape. One ball is

drawn at random, what is the probability it is white?

Options:
1
1 B 2
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index number satisfies circular test

Options:
r
, ® Laspeyre’s

., » Paasche’s

- » Fisher’s

il Kelly’s
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Correct : 1 Wrong: 0.33

The following data relate to the price of rice per kilogram in different years

year 1998 1999 2000 2001 2002 2003 | 2004
Price(Rs): 6 7 7 8 10 14 12

Find the link relative value for the year 2002

Options:

, % 100
» x 114.29
- ¢ 125

4 = 140
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Chain index is defined as
Options:

current vear link relative X preceding vear chain index
100

1, W

preceding vear link relative
100

previous yvear fixved base index

X100

5 current yvear link relative

- None of the given options is correct
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Real income is also known as

Options:

, Deflated income



. = Increased income

- Decreased income

.. Price index
4. %
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Most widely used model in time series analysis is

Options:

_ Additive model
..

> Multiplicative Model

- # Linear Model

4 ® Mixed Model
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The graph of the time series is also called

Options:

, = Histogram

5 % Frequency curve
5 off Historigram

- None of the given options is correct
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The correction factor used in the computation of rank correlation when tied
observations are present in the data is?
(‘m” is the number of times an observation is repeated)
Options:
m(m*—1)

1o 12

m*(m—1)

o R 12

m({m—1)

=z ® 12

Question Number : 147 Question Id ;: 79840732452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
GTro3B00S° VAT (tied ) DOFVDHL &YV, EB BT DoLoE20

(5095 GO0 edDEIrAom ::aavbd SESS0 AT

(‘'m’ 38 w8 HBILD miaug; 2DRTDD PHB0GD Doy )

Options:
m(m=—1)

1.« 12

m*(m—1)

o R 12

mi({m—1)

= ® 12

Question Number : 148 Question Id : 79840732453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In a scatter diagram if all points appear to form a straight line going down ward
from left to right, then the correlation is know as

Options:
. perfect positive correlation
18

e simple positive correlation

- = No Correction

Perfect negative correlation

4 ®
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To compare the variability in two series we use

Options:

, = Standard deviation

Coefficient of variation
o o

- » Mean Deviation



ol Scatter diagram
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Geometric mean of five observations 2,5,8,0,12 is

Options:
1.« 0

o % 3.9487
- % 5.5663

, % 9.8648
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